M2

Income, expenditure and capital transaction

2000 2001 2002
CZK million
1 Gross domestic product 2146174 2323091 2408433
2 Net primary income from (+)/to (-) rest of the world *) -52 979 -83 549 -123 780
3 (1+2) Gross national income 2093195 2239542 2284653
4 Net current transfers from (+)/to (-) rest of the world *) 14 367 17 657 28 709
5 (3+4) Gross disposable income 2107562 2257199 2313362
6 Final consumption expenditure 1585927 1695890 1793714
7 (5-6) Gross saving 521 635 561 309 519 648
8 Gross capital formation 626 512 685 901 667 708
9 (7-8) Current external balance -104 877 -124 592 -148 060
10 Net capital transaction from (+)/to (-) rest of the world *) -881 2339 -1701
11 Netincrease (+)/decrease (-) in financial assets -105 758 -122 253 -149 761

*)

Net primary income from (+)/to (-) rest of the world = Balance: D.1 + D.2 + D.3 + D.4

(for total economy and rest of the world)

Net current transfers from (+)/to (-) rest of the world = Balance: D.5 + D.6 + D.7 + D.8

(for total economy and rest of the world)

Net capital transaction from (+)/to (-) rest of the world = Balance: D.9 + K.2

(for total economy and rest of the world)
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